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Using C to write a recurstve program 1o insert a node to a binary tree such that the
datla in the binary tree will be sorted by descending when the binary tree is
traversed by inorder. (15%}

Assume the array deciaratior: floal values {MAX_VALUE[; which statement will
pass the whole array to function caic_max 7 (5%)

a. calc_max { float vaiues | 1

b. calc max{ values [MAX_V ALUET)

c. calc_max (float values | MAX VAELUE!
d

calc_max {values)
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6. What will be happened in the following reverse_string function 7 (10%)
void reverse_string (void) :
{
char ch;
scanf ("“%ec”, &ch);
if (ch1="\n") _
printf{"%c”, ch;
reverse string();
} ,
7. Use the Hamming algorithm to encode with even parity the information-bit string
01101 and correct single-bit errors. (10%)

8. Giving the following queue declaration:

typedef  struct  node_type {
ITEM _TYPE info; & User’s data ¥/

struct node_type *next;,  /* ptr to nexi node ¥/
} NODE_TYPE;

typedef struct {
NODE _TYPE *front;
NODE TYPE *rear;
} Q_TYPE

Please implement the following iwo operations: (15%)
(a) void enqueue (Q_TYPLE *queue, [TEM_TYPE new_item); /*Add a new
itern to the rear of the queue */
(b) void dequeue (Q_TYPE *queue, ITEM_TYPE *old_item); /*Remove the
item at the front of the queue */

You can use BOOLEAN empty_queue (Q_TYPE *queue) to check whether queue is
empty or not. 1t returns true if the queue is empty.
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